* 7% B #E E E
(¥ % 4% it i H H h = ® R 4 S5 — E %
FaEsd=! ) L
— - B =S E IRRAER
" « A1 F1& - N
A B B # 8 v e K|k B K& i =
ﬁﬁau AREH ﬁ"“ﬂu agyrir| ® +@E BE RA EX | K
HRE DB ARUM 15| H
®H &ix=R) |PHB HeBER
R5.4/1 ~ 4/9 9 0 0 9 4 2 2 5 5
R5'4/4‘/°28 ~ 19 15 15 4 4 2 2 0
R5.4/29 ~ 5/9 11 0 0 11 7 1 2 4 4 4
R5'5/5‘/°15 ~ 6 4 4 2 2 1 1 0
R5.5/16
5/31 1 4 4 2 2 0 0
R5 % 6 2 8 8 4 4 0 0
R5 4 7 1 11 11 5 5 1 0
R5 4 8 3 9 9 4 4 1 0
R5 % 9 1 10 10 4 4 2 0
R5.10/1 ~ o
10/15 0 15 6 2 3 1 9 9 |10/1~154k%%
R5.10/16 "
10/31 5 4 2 2 0 1 1 [10/164k%:
R5 4 11 10 10 4 4 2 0
R5.12/1
- 8 8 4 4 0 0
R5.12/29 12/29~1/24K
R61/2 5 2 0 1 1 3 3 2
R5.1/3 ~ 1/31 19 19 10 9 4 4 1 1 1
R5.2/1 ~ 2/29 19 19 10 10 4 4 2 0
R5.3/1 ~ 3/8 8 6 6 2 2 1 1 0 0
R5.3/9 ~ 3/31 23 0 0 23 9 4 4 1 14 14
- fHE 79 56 23 22 10 10 2 1 0 1
B LLAT ==
%‘Wé’**ﬁ 48 19 58| 32 11| 13 8| 26 3| 23
X H® & - 39 18 17 8 8 1 1 1 0




